Instruction Sheet

Your Solutions Partner 656 FOOngGI’d Shelf/nStG”thOn

656 WITH OUT PLEXIGLASS

656-460 WITH PLEXIGLASS

. Please read these instructions completely before attempting
CAUTI O N e toinstall, operate or service this equipment.

AWARNING for CA residents: go to www.dukemfg.com/prop65 for prop 65 warning

This manual is Copyright © 2023 Duke Manufacturing Co. All rights reserved.
Reproduction without written permission is prohibited. Duke is a registered
trademark of the Duke Manufacturing Co. P/N 229359

REV A 04/10/2023



Installation and Operation of: Product Name

INSTRUCTIONS

10-24 X 3/8 Screws
Serving Shelf—\ /\

10-24 nylon
insert Nuts

Plexiglass Panel(s) —\‘
S
‘\‘:t
- 10-24 X 1/2 Screws ——
-—

e
——e
‘\k\(
‘\( ‘&1 0-24 AcornNuts____

T |/ /
End Bracket Right
\ End Bracket Left ,\' .
° ° }—’N—//‘
..\\ LU

o \
R Center Bracket-5 Section Only

Existing #8 X 3/8 Screws in unit top

1. Mount end brackets to customer side of unit, 3. If unit has plexiglass panel(s) attach to brackets
using existing #8 X 3/8 screws which are holding using 10-24 X 1/2 screws with 10-24 Acorn Nuts.
the top to the unit. If shelf has center bracket will attach second

panel.

2. If shelf unit has a center bracket (5 section only)
Mount center bracket in same manner as end
brackets.

NOTE: Hole closest to edge indicates bottom of
plexiglass. Acorn nut goes on inside of bracket.

4. Mount serving shelf on top of brackets using 10-
24 X 3/8 Screws with nylon insert nuts.

Note: Nuts to inside of shelf.

Duke Manufacturing Co. Phone: 314-231-1130
2305 N. Broadway Toll Free: 1-800-735-3853 www.dukemfg.com
° St. Louis, MO 63102 Fax: 314-231-5074

Your Solutions Partner




